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(A% %5%]

. HEE

[EXx]1

[£5]) 5

[5+H7] 569 £ 673x428 =569 £ (672 £ 1)=(429 - 1) =569 £ 672 =% 420 + 420 772
=672x 429+ 325, FiblER=1.

[EX] 16

[£5] HrRERTE

[5087] B DOar £pei o BB, WOPNZEN T, BE{EXDPU0EeedE B,
MORREZAS, BEEX VA EeEE o Bk, MOPMNiZEL, FLUX=4
BFEZMAT+5+4=16.

[EZ] Vi

[5 ] FIR] 4R R 68T 2

[347) 105=5x3x7, BIH (1. 105), (3. 35) (5. 21). (7. 15) MUfpK
HiE.

[EZE] 6

[£5]) EREGEREERNAEE, SEELLHH

[4F7] TEFHHERMNIZL102 584 (9258, mM102 584 MBI &2E N6, T
— I EHEEE T

[E3x] ERY

(%51 B mE

[afrlI0 H1IHEI0H28HE44~-EHH, 4 TERA, L0 H29H., 10 H30H.
1AM HPE—1Z2EHA, #EEEEHH, WLI10 A3 HEEHN.
10 29HZEMBMN, FLI0A1HEZEHN.

[EZ] 16

[#5] fhEEHE

[Hi7] FEEAFRDL, SREEMEERER K, FRET2EAE, FLIEL
MiZE13+2+1=16 (3k).

[EZ] 6900

[£5] 408



10

11,

12,

[ 1 E=A%4—8E, (101, 203, 305), (107, 209 , 311), (113, 215. 3177,
------ , FESIAEAIE N 18, FTLLET 30 T EAIAY
(101+203+305)x 10+ 18%(1+2+ 3+ £ 9) = 6900 .

[EX] 77

[£5] BEiE

[5087] MIUIBIBEREE M HIE, KB ABN=AENLHI T ZEEREDPREE
AB, @A, FHAUELEBCH=MEHE I, ZEHEBEC, EHEAKF
iEMEELECD . DE, EF . AF, B3H2, ZTHECESEIN=MAIE
MH4+3+4+3+3+3=20 (), BERSHB AEN=fAE HHCF5 4E
HAER, MUBSBRAE EME=4%8, & AF L& BN=fMBLs 4,
Wbz AE, H& AC LEEBRMH S~ Wi AC, 88 CE LEBEMHIT, #
HEY, £FIT=/AE, FUZXTEEBPEE=AB20+8+5+3+1=137

A e

[ZX£] 49
[ %] e E
[FFMHLEENSIENERNL(77+ T +2=28 (&), B NLEITE 77-28=49
(&)
[EFE] R
[%5] Hhlelss
[487] B2 EFEFEY (1, 2. 4. B) (3, 6. 12, (5, 10), T, 9,
11, fiESF—4niis e iEn 240, FTERPESATLER 24
(3. 12), F=HEPESBEB14, 7. 8. 9#FTLE, TUERSEES A
o, EREEHARD, S 1TEREAER - EAI 2.

[£%] 2

(%400 R

[4HH7] —PEETRLLI00 FORENO0. 1. 2, 3. 4, Seeey 98, 99 HIRI—A,
GRS EEOR L 100 MIARBCEI, AT 100 8%, A%

T3, 0, (1, 99), (2, 98), (3, 97) woeee (49, 51), 50, B3t
Hi14, 2R 20AEEN BRI, MU RERY SR/
TR ECE REAE 100 BhR .

[EX] &7

[£5] /L7, ERFHIEE
[ 6] R4 E - S ana "'Sa..rm=éj:|mm  Sisex =%5:|mm=5.wqf—5¢rr:e v B

T =15+36+46=097 (FEHH.

“HE



13, [&E%] 105
[%£5] FH#ERE
[547)] BER—FXMEET A, BLA—FREF4 AL TH
10x-6x(x+3)=4x-18, B¥E _FXIFPES A (4x-18-20)+4=x-95,
LR _SENTFET N (x-10.5), BEX—SHNFSrE %20 FE
SETx—(x-105=105 (4.
14. [&EFE] 27
[£5] mEE
[567] 2985 B8 100 +5 +1) +(100+25 1)+ 1=27 (4), XA IREERPH
AR EEF 27 “07.
15, [&EZE] 3795
[£5] =& FHY
[447] BTS00 BREPBRANEEFHEN 2x22=484,
11+21+31—---7221=%=3?95=
—. HEE
1. [&XE] W@,

3|

2 [BE] cd4ER. 32FK. 24FK. 45EK, 45EXK, IEK
[£A] LM, ZfAEEELAR, REAMEKFRE

L8] Seep =Suge 25, FELCD= AC25=2.4(EH), Suep =Sogp 24, Hibl
BE=AB+4=3(E¥), F& AD =0.6(E¥), AE =9 (E¥). §,, =S, 3

HiLl DF = AD +3=32 (EX), AF =12-24-32=64(EX). S, =500

Frll AG=AE +2=9:2=45(E¥).



